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— DR AAF 33T 4,261,008 47 29,827,000 2
— DRSS AN 43HR 4,261,009 5482 204,528,000 &
— DR A 537 4,168,002 %3 12,504,000 &
— DSOHER HA 55T SRS 1,308,000 &
— A= TICISHE AL 15HT 4,400,0008 32 13,200,000 &
_ A= T|C4SHR M A 25H T} 4,400,0008 4502 220,000,000 _#!

9/138




o = 20213 A= [ 202130HE [ < S\ ]
BRIEZ Ol At | 2XpEY Oty [ S MEZH a9
o il = (A) (8) el
— 2ASHES A A 381X 4,323,0008 55 21,615,000 2
— 2ASX B A AL 48HR 4,323,0002%33 142,659,000 2
— 2ASN SR S A 581X 4,228,0008 +3 12,684,000 &
— AGTHEIR A AL 28X} 4,400,0008 %140 616,000,000 &
— ATEHIHBHE AAF 28ER} 4,400,0008 %1 Y 4,400,000 2
— ATEHIHBHR AL AF 3BER} 4,323,00090%13Y 56,199,000 &
— ATEHIHBHE AAF 3BER} 4,323,0008 1Y 4,323,000 2
— AGTHEI A AN 48X} 4,323,00080 %114 492,822,000 &
— AEHIHBHE ALAF 5BER} 4,228,00091+23Y 97,244,000 &
— AEHIHBHE A AF 5BER} 4,228,000 %2 8,456,000 &
— MEHEHE AAH5BtR Bt RS = 2,368,000 &
— 2E0IEUER AA 281X 5,357,0002 %49 262,493,000 &
— SE0IEOE R AA 251X 4,344,0009 %4 17,376,000 &
— 20IE0E R AA 281X 5,357,0009 %3 16,071,000 &
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2140 623,183 623,183
JIEt7 S = @® MK HWESE2SH 0IAIS0E X2 JIERsE] 623,183,000 &
& A 623,183,000 &
=2 > & 5 A 109,953,426 108,412,719 1,540,707
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—H AHl 170,000%2CH 340,000 &
@ FUSHEAMSAINLYEMNE 21,510,295
—ASLXNLHZE 10,0003 *200H 2,000,000 &
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—&12=0F 1J%50,000& 50,000 &
® =20 XHeIAFS
— NEAS JIYE 3500%10,0002 %25 7,000,000 &
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— 21Y01S2 AIZICIRFOIFMZ 2FAFS 200,000 200,000 &
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— QM E(EZAH) 500,000 500,000 &
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— AHME AITH 15%+33]+5,000 225,000 &
® SAHD EUAES
—CIME(ZAH, Z2724) 1,500,000 1,500,000 &
— S40 HSHSS 9% 210,000 210,000 &
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— SHAE 1,000,0008 1,000,000
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@O AZXOZ)AHIECY WNIP=2ERA
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® JIHD|RCHE
—NXWE L I DHEIE 3,350,000%x100CH_CHSHR ] 33,500,000 &
—ProTools AT ES0f 2 AH| 7 22,000,000_CH3t S 22,000,000
—Ef=2 12l 400,000 *50H_CHEH S mEH 2,000,000 &
—Sb0IaH IR, A2ICH, XY S YR 22 16,000,0 16,000,000 &
- E= 1,500,000 _0Hsr st 1,500,000 &
—2 2 JIXHH 2 2,000,0009_CH 52 15t 2,000,000 &
CAEASOME SHS) 2004 W I R (MR 100,000,000 &
—=22%=, &N2ls CCTVE &l 22H| 10,000,000& %14 10,000,000 &
—=SUE (2 eSEH 22U 25,800,000 14! 2t 25,800,000 &
—EoE MUED 12 5000,0008_2AA DS 5,000,000 &
—E9E 20 22 300, 0003_2@7:3 el 300,000 &
—2JIHFI| 91 mE 22 1,400,0002_AH DKM 1,400,000 ¥
—2I|HFI| 4 0mE 22 500,0008_HAHDIH L 500,000 &
—HIS I [SLOIBIE]: 700,0008_2A A DS Ijerel 700,000 &
—oi APPHEIE HIE EH 221,710,000 _0| Al 1,710,000
® B2ZEX 1,0008 1,000 &
© MAIZ QIEAEIEY R
—B| T2 E 5940,0008 * 3ea 17,820,000 &
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! = 20213 HHE | 20213 HAHE = A2t
— 3XF=F Ol At | 2K = Of A H CZA—E) AEZA = 9
o g = (A) (B)

—PROJECTOR BRACKET 330,000& * 3ea 990,000 &
—LASER SENSOR 3,960,000& 3,960,000 &
—CONTROL PC 2,640,000& 2,640,000 &
—GRAPHIC CARD 1,056,000& 1,056,000 &
—EDGE BLENDING SOLUTION 1,320,000& * 3ea 3,960,000 &
—OPTION LENS 3,300,000& * 3ea 9,900,000 &
—POWER AMP 594,000& 594,000 &
—SPEAKER 198,000& * 4 792,000 &
© &AIZ 0ICIHE M
—Client Standard Plus 495,000 495,000 &
—LFD System 5,410,000& * 12ea 64,920,000 &
—Wall Bracket 559,500& * 12ea 6,714,000 &
—Workstation2 PC 2,374,000& 2,374,000 &
—HDMI cable 743,000& 743,000 &
—I|HE A 2 HHEH 550,000 550,000 &
—Xles ATHH 984,500 * 2ea 1,969,000 &
—JIEF AHOIZ2 &L X 88,000 * 14 88,000 &
@ BHAAALZ Al MAIZ 2=
—&Al2 ADLESE 22| AIAE! 32,500,000 32,500,000 &
© IUW=AI2E & 95 65,000,000& 65,000,000 &
m WSISIHER efsE323H S-A1-2-83 1sED -4,772,000 &
m WSISIHER efsE323H S-A1-2-83 1sED -23,364,000 &
m WSISIHER efsE322H S-A1-2-83 1sED -20,192,000 &
m WSISIHER efSsE322H S-A1-2-83 1sED 21,621,000 &
m WSISHER etsS322H A1-2-3 W=EI|AH 10,558,000 &
m] BHA AN (SIS ES3H A1-1-3 A0EHHA S
—GHA A ALZ BAIZ S ALY G'JIE ‘.j_“.;,* -32,500,000 -32,500,000 &
m] BHA AN (SIS E33IH A2-1-1 MUY T
—SHA ST ALZE MAZE RS ALY OIUIE gte -119,565,00 -119,565,000 &
@ U-SSIHER HeEsSE33H S-A1-2-3 2SS -4,299,000 &
@ USISHER ess323H S-A1-2-83 1s&ED
—ot@ st JI A M 2 300,000,000 300,000,000 &
@ USISHER Hess323H S-A1-2-8 1sED -1,722,000 &
@ USISHER ess323H A1-2-3 W=sEI|AH 10,000,000 &
@ urSiSHHER UstsS328H A1-2-3 W=SEJ| AL
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! = 20213 HHE | 20213 HAHE = A2t
3XF=F Ol At | 2K = Of A H oy AEZA = 9
& g = (A) (8) (A-8)
—& 253 JIAM #8 236,500,000 236,500,000 &
@ HMEER HSSE33H A1-1-3 A0NEHHAEH
-5 MBE 238 DH(1G—>10G) 92,401,500 * 24 184,803,000 &
NI BZHAMAE WX (1G—10G) 46,200,000 * 1 46,200,000 &
@ (s d =t etsE32H usH22Z &
—ArHl 240 [HE WHIHS 944,510,000& 944,510,000 &
@ szt etsE32H A8ASIIANHAL
—ArHl 20 HE WHItHs 810,690,000 810,690,000 &
@ USSR WetdsE322H A1-2-3 W=EI|AH
—20ls g2got g0 e ety -100,000,000& -100,000,000 &
—NSVHA Wifi EX(2ESH, 2t0l& A, AP, POEAS 132,231,000 &
—2EIAKCOL d2Y &bBI(ProTools, Mic, Amp, 1/0, ¢ 120,000,000 &
-5z, dels N nE PC Xl 2,000,000& 2504 50,000,000 &
—FarEP e Yl 2 &2 300,000&+10CH + 2L ¢ 6,000,000 &
@ TN UHESEZH A1-2-4 T H2AIISsLASEH
— TN SLEAIAE EAHEAEXD] 65,700,000 65,700,000 &
— M2 ZSHAMAEI] 7,889,000 7,889,000 &
—20ItI =Bt D] 25,760,000 25,760,000 &
—S A2 25 2EHO0IE 2 25,300,000 25,300,000 &
@ USISHER essE3eH S-A1-2-83 1s&ED -2,047,000 &
st 3,441,526,000 &

1315 361,501 304,851 56,650

&8IS0 bl ® t==X 1,000 1,000 &
© UPS(REAMRAZ2EX]) SX X A
—'UPS(REXMNABZ2EX) A LA 165,000 *€ 9,900,000 &
© HARA Ol& HHEIS ZFH 7L 1,000,000 * ¢ 30,000,000 &
@ AMANAATRA HIS 7 4,000,000&%10Y 40,000,000 &
@ HEHIS Zely, 2LH s WX &8l 44,000,000¢ 44,000,000 &
© HOIEHE M HEXIE e 0] & 2,000,000& 2,000,000 &
® AW 2E R A2
— OI=J1201*500,000&+E 2 10H*3,000,000& 4,000,000 &
®©2x3s)| 2 € A
—8x380J] 2¢ ¥ i 5,000,000& 5,000,000 &
© ZJHISHEE
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o =2 202131 | 202181HA= |~ 5,
: — 3X= oty | 2%t ol | T E AE2N 2o
& g = (A) (8)
—AMFHZ(OIE 2dls) A2A W I 2L (FEH 20,000,000
—NE=AHZ(DIE 26lsE) A4 W ED(HISRU(MAL ¢ 30,000,000
— A DA IANM 2L L =5 HES il 15,000,0( 30,000,000
— AR A D HEE N ADN 22 1,000,000 +541E 5,000,000
—WEAFA JIIFFL 3,000,000%104! 30,000,000
—HHE2 LE=Z 722 1,500,000%34 4,500,000
ORSPINs|E=3-uPSE=4
—= AN AMIED] 450,000%1 CH_O| Al A 450,000
m A2 HEFESSE2SH A2-1-1 EXldnsd=
—20|S[Jt&] A=Z2AF EDIHIE 22 50,000,000 50,000,000
@ oS MXJANE HetSS23IH B4-3-2 H0O{sHM -5,000,000
@ =E2H USSEZ3H SsAtatz2d22e] HIIHIE
—sHA8Z HIIHIS 2 SI 114,000,000 114,000,000
@ NEZLK HESS23H LBtAIA 22| AIY &DId -2,350,000
@ USSR HSHASES3H Al-1-5 AR =ZH N,
—20ls 2ot 1A [HE Bty 50,000,000 -50,000,000
st Al 361,501,000

1316 70,000 150,000 A 80,000

2 @ XteF2BF2 0L 150,000,000 150,000,000
Q@ =24 HesSE23H MEA2e 2B -80,000,000

Sl 70,000,000

1317 830,032 830,032 -

T NP © TA2EN Y BEHE &5
— ZHAHEE 5,0002%13,000& 65,000,000
—=2Q|NEE = 6003 *x40,000& 24,000,000
—HIZ= AN, S8 1,000&5%13,000& 13,000,000
—= W& X2H25,0005 131503 328,750,000
—=HAHZ2HHEZ 405%100,000& 4,000,000
—=2AHAEZ2IHZ 105%200,000& 2,000,000
M HLE&SH=DB 105+21,188,200& 211,882,000
—0l4Y 385+16,000,000& 48,000,000
©® TAZANES) TAFY
— Ssi=E 2 UM 1,300 %18,000& 23,400,000
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o = 20213101E | 202139 | -
- xR olaey | 2R oty | A= 2 o
& g = (A) (B)
—Sosi=E 22/ 500&*70,000& 35,000,000
— 2UAHAS2HHE A7, 77TT& 3,500,000
— 2AAHE2HE 60E5*x258,333& 15,500,000
—®MURE 120424 +4,666,6662 56,000,000
BH: 830,032,000
Sgéggﬁgm
BH: -
1319 5,670,000 6,489,000
HEIIH ® SHSAEZA
— SHS[IIE] AETAHZAI2Y 22 L JIERY, 4 6,100,000,000
WECH SHSES25|H BSADALH2 HEIIHE
—N2 S3E A2 FS= A 829,000,000 829,000,000
W AIEZRIH B S225H Al-1-2 ZSHAHA D
—SHS[IIE] AEZAF A 200,000,000 200,000,000
—SHS[IIE] ASDAF HEDIHE = HES < FI|t ~640,000,000
@ E2H (SIS=25|H BSARALH2 HAIIHE
—NZ SHE HRAHIE 9 HE=A S BHe -819,00( ~819,000,000
8:  5,670,000,000
1320 28 D8 KA =4 - - -
1321 28 D& KA - -
2100 SE 24l & - - -
2110 S| XS 2 AL - - -
2111 Sl X2 2 AF - -
THA B - - —
2210 A XS 2 AL - - —
2221 - -
2| Xl 2 A8t
B -
2020 JIEF DR SR AL - - -
2221 - -
AEszsa
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